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General Instructions :

(i)  Answers to questions carrying 1 mark may be from one word to
one sentence.

(ii) Answers to questions carrying 3 marks may be from 50 — 75 words.
(iii)  Answers to questions carrying 4 — 5 marks may be about 150 words.
(iv) Answers to questions carrying 6 marks may be about 200 words.

(v)  Attempt all parts of a question together.

AT R
G) 1 3% & I & IR uF Ve 9 UF A a% & |
(i) 3 fFl & T F IWE50-75 V= F & |
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1. Your grandfather has retired from an organisation in which he is
responsible for overseeing the efforts of the workforce. At which level of

management was he working ? State one more function performed at
this level.

HYH qEST T 18 ¥ Vaifga gC § Rl 9 Fead & sEr (FE) F e
FHOF U el &1 3 WY F Y W R IR 9 ? 39 W W feafea
for I a et ww ok W W oo W |

2. What should an organisation do to achieve the basic objective of
‘survival’ ?

@Wﬂ%‘?ﬁﬁa@’%aﬂw@maﬁmm%mwmaﬁq?

3. Why is it said that ‘Principles of Managemeht are Contingent’ ?
g ¥4 @l ol e % fagra afifwa @9 € 2

4. What is meant by Scientific Management ?

- Ay ey W o o @ 2
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5.
T & e Sr ? 5 e e @ qOEeE SEERer @ 2

6. What is included in ‘Technological Environment’ of Business ?
SEEE & qEA aareer § @ e @ 2

7. Explain in one sentence how direction is a pervasive function of
management.
& 99§ 9UeRY 6 e e @ gdens e &9 @

8. When is a corrective action required in controlling ?
e § $9 T QRIS Frad S savasar @it 8 2

9. What is meant by ‘Standards"in' the process of controlling ?
e @ gfpar § ‘aee’ @ ¥ ofig @ 2

10. State the objective of Financial Management.
focta sy & 3BT F STA@ T |

11. Explain ‘Necessity for change’  and ‘Need for developing human
resource’ as impacts of Government policy changes on Business and
Industry. : _ ' :

3O R SR A9 § wiade & IE & 7 § §9ER |

12. Differentiate between ‘Method’ and ‘Budget’ as types of Plans.
ARl & YER & ®9 F IRy o awe’ § e ST o

13. “Internal sources of recruitment are considered better than external
sources.” Give any three reasons in support of this statement.
“qff % oMIRE B H WG WAl B VR MmN THW W & 17 IW
F49 & A H a9 N Fro i

14. Explain ‘Formal’ and ‘Informal’ communication.
‘Strafie’ ©d ‘SHivEIig FHT R §ELET |

15. Differentiate between ‘Marketing’ and ‘Selling’ on any three bases.
e T foseg’ ¥ Al di9 omERl W TR ST |
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Why is it said that ‘Business Environment’ is a ‘Relative Concept’ ?




16.

17.

18.

19.

20.

21.

22.

23.

State any four limitations of Planning.

faem & 5 9] gl @1 Ik FvT |

“Organisation is the process of defining and grouping the activities of
the enterprise and establishing the authority relationship among
them.” In the light of this statement explain the steps in the process of
organising. ‘

“T3T ww U wip @ s g Swee ¥ wrt & uRwfya wg Fifga e s
2 aw 3% faftm =fedl @ Wit e S fteR g @ fafvea e s @ 1
W H & g § e wRA § I IR A FeH F AR FINT |

State any four points of importance of controlling.

frmm & W & Rl IR forgell &1 Seo@ AR

What is meant by ‘Financial Market’ ? Explain any two functions of
financial market.

g = ¥ w1 g 2 ? ey eeR § e @ e & 9EeRT |

“To promote orderly and healthy growth of securities market and
protection of investors Securities and Exchange Board of India was
set-up.” With reference to this statement explain the objectives of
Securities and Exchange Board of India.

“shrgfar IR & FeE @ @ e favel S g §@ 9gEn 3 % fav
Wwiﬁr@ﬁﬁma}éaﬁmaﬂniﬁl”wfm'm%mﬁw
yeufa & fafme 9 & YA # IHERT |

“Co-ordination is the orderly arrangement of group effects to provide

unity of action in the pursuit of a common purpose.” In the light of th1s
statement explain the nature of co-ordination.

‘O 3R¥E % AEUT H FE @ TEa H @ % fau wnfes v &t

ﬁaﬁaaawaﬁwm%l”wmm%qzﬁﬁwaﬁwﬁraﬁ
gy |

Explain any two principles of Taylor’s scientific management.
R F Aqh oW & R fagr  FEET |

Explain the concept of Training and any three methods of ‘On the Job
Training’.

Hﬁmwaﬁaaamwaﬁwaﬁfaqw aﬂzfqtsrﬁmw ﬁﬁré\aﬁ?ﬁfﬁwha?r
TISRT |
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24. How are the shareholders likely to gain with loan component in capltal
employed ? Explain with suitable example. 5

wﬁmm%wmaﬁmwmaﬁwém'
%73¢3ﬁmmmﬁql .

25. What is meant by Labelling ? State any four functions performed by
Labelling. 5
it (ciafer) @1 Fa S @ @ 2 @ater g Fewfe R w wE
G HIT |

26. Explain ‘Formal organisation’ and ‘Informal organisation’. In spite of
'~ many disadvantages why is existence of ‘Informal organisation’
important ? Give any three reasons. - 6

OR

“How well one delegates, determines how well he manages.” In the
light of this statement explain any four points of importance of
delegation. 6

Wi deT W HERE ST aﬁmqnaga&ﬁ@t%w
It WS H e wewyel @ @ 2 B A dror e |
“W@wﬁsﬁawﬁaﬂﬁn—wm%ﬁﬁ%ﬁﬁaﬁﬁm%ﬁﬁ
feft el A vaen W W W R W v F vl F fmR-am &
TEE % fR WR frgell @ s S |

27. “Maslow’s need hierarchy is considered fundamental to understénding
of motivation.” In the light of this statement explain ‘motivation’ and

Maslow’s need hierarchy in motivation. : | 6
OR
Explain any four Non-financial incentives. 6

TR FY SARHA AR, mﬁm%mmm%w
W ST & g ¥ aﬁqﬁmnaﬁmqamaﬁﬁtmﬁmmmm
THART | ,

Froat
el TR R-fariig MeaeAl it HgmRe |
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28.

29.

“Sound financial planning is essential for the success of any business
enterprise.”. Explain this statement by giving any six reasons.

OR

“Deciding about the capital structure of a firm involves determining

‘the relative proportion of various types of funds, which depends on

various factors.” Explain any four such factors.

“IAh Wmﬁm%mmwwﬁﬁm@mm
g1 @ o AR 3 Y T FAT A R | -

e
“ud T & gS HoE & el & F fafie ser @t ARl 9 wefha siqoa
w fraftor afsfea @ 2, ﬁﬁmmmﬁvﬁmél”ﬁﬁﬁ@mm
H TIEY |

Name the element of marketing-mix in which a set of firms and
individuals creates possession, place and time utility and helps in
market offering. Also explain any five important functions performed
by this element. ‘

OR

‘Identify and explain the promotional tool of marketing-mix which plays

a persuasive, service and informative role and thereby links a business
firm to its customers. Also explain by giving any four reasons how this
tool helps in increasing the sales of businessmen.

fquA-fiy & 39 o & W vaRy ey w wd atedl @ us o sfier
IUAfier, @M WA AW guE SEfrr w1 fmin W oanR ¥ oaegel &

| TR B G TR R | §9 9 g A U 9 A fR 9 e sl

AGar

fqua-fiyg & 39 FadT GRS % TEEH W GHIRY S TS AEEIgE W @
e ¥ Med & g @& T & ael, a1 I A el ol o1 JoH FE
areht ) @ IR FRU W G T N THERT fF W qHAE
H weM ¥ fhW YHR HEEAr Xt 2 |
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30. Reena pux;chased one litre of pure Deshi Ghee from a shopkeeper.
After using it she had a doubt that it is adulterated. She sent it for a
laboratory test which confirmed that the Ghee is adulterated. State
any six reliefs available to Reena, if she complains and the Consumer
Court is satisfied about the genuineness of the complaint. 6

OR

Prakhar purchased an ISI mark electric iron from ‘Bharat Electricals’.
While using it he found that it was not working properly. He
approached the seller and complains for the same. Tﬁe seller satisfies
Prakhar by Saying that he will ask the manufacturer to replace this
~ iron. The manufacturer refused to replace it and ‘Bharat Electricals’
decided to file a complaint in the Consumer Court.

Can ‘Bharat Electricals’ do this ? Why ? Also explain ‘who is a
consumer’ as per Consumer Protection Act, 1986. : 6
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